Bejsweg aim qaueg "ZL'LE N "ZL'YT WY
Zz0z Jenuer *L0 qe Byino Z1Le N L
01656 1.29%0 "o ‘BImsa|yds Le81Z ‘LG oyeiS-leusbinr-1s CLVE T gLy WENRIMISHON = iy
4SA - Hqwo Bingsus|4-BiMsa|yos agaLegsIyaNIan Banssny InN =V uabejusuaq ue unu Pysspop = 4 uabeynyog ue nu UysIBA = S
L agensidnen INasIiem svi
| TtoovesoL JwY ‘punyeyds 95k
YL TTooovesioL WINJUSZINYOS ‘pUn|eyds 95t
Y 6€V1L Y 0G:01 ayens Japunjyeyss .:>w_>_ 4142
6evL 60°€L  60°LL 606 - 602 (L3 B1Ur7) INGBIN YoeU Ssnjyosuy
6vpL 6v:2L 6r0L 658 g 61:9 (LY e1ury) bingsus|4 yoeu ssnjyosuy
o€yl U S¥iZTL S0l SHi80 6£:90 ageussidneH ‘|Ingsiiem svi
LlewL U oviZk  Op0L : 8 $€:90  ogedsidney ‘(punjyeyos) Aqielso 95t
8zl U 9gigL  9g0L ] 0 62:90 agenspue a)ly ‘Aqjepey 951
€yl v zezk  zeol : g ¥2:90 HoQ ‘punjepier 95t
6Ll T 062k  0£0L 3 q 02:90 PI9HSPION ‘punjoper 95t
L yoyBow 82+ 8201 : i 81:90 Bamus)siuojoy ‘punjepier 95k
9%l punjopier 222k LT0L 5 [ £1:90 punixog 954
| | | | vyl /Agseepy | ¥1:90 agelszual9 ‘punixeg 95k
| I I | LlipL Bumuory | 11:90 wwepAqseap 95k
forai 4 €TvL €20l €z:5L  L0:p) W BRAMSWN gz:z) £0:90 yeyospmses ‘Agseapm 95k
| | | | zoL | I 20:90 JOH 951
0Z:7L 0Z:¥L  0Z:0L 0Z:5L  00:%L SZ:EL 0zZCh 00:90 8|nyds ‘Agiepei 95t
6Ll 6Ll 6L:0L 6L 8S€l  vZEL 6L 8550 Honpue ‘Agjepsy 95k
Sl Slipl  GLOb SLSL  pSEL  BLEL  GLEL $6:60 | ogesnsidney ‘(punjgeyos) Aqisiso 9sk
LLivL : : LbivL  LLioL : : LG 0S:€L  SLEL  LbEl : : 05:50 agessidneH ‘|Ings|iem svi
6424 g g 6v:2L 618 6L 6FEL  6PTL  6FLL 646 (L& B1ur7) [INGBIN UOA SSNjyISUY
60°€L 60°€L 606 60:GL 6€€L  60€L 60Ch 666 | (LY awry) bungsus|4 UoA ssnjyosuy
4 S Eo_ﬂmE‘_Ohc_r_m_n_‘_r_mn_

s
Bejuuog beyswes Beyal - Beyuopy

068 (1Y ssnjyasuy) yonunz ‘n Aqiapa |91dsyoary - [INGS|eM 068

14-71S slesy




